AMDM Midterm- Spring 2012

Name_____________________________________

Choose the best answer for each question. (All questions are assessing GPS MAMDMD4)
	Use the following chart to answer question numbers 1-4.  Make sure your calculator is in radian mode for these questions.

Length of Daylight for Sydney, Australia

Date

Day Number

Minutes of Daylight

Jan. 1

1

862

Feb. 1

32

824

March 1

60

764

April 1

91

703

May 1

121

644

June 1

152

602

July 1

182

595

Aug. 1

213

627

Sept. 1

244

683

Oct. 1

274

745

Nov. 1

305

808

Dec. 1

335

853



	1.  Which of the following is the correct equation for the length of daylight for Sydney? 
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	2.  What is the minimum value of the data?
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	3.  Which of the following is NOT true of two cities that are the same distance from the equator but on opposite sides?
A. The length of daylight for both cities will create a sinusoidal graph.

B. Twice during the year these two cities will have the same about of daylight.

C. The two cities will have opposite seasons

D. The maximum amount of daylight of the city that is in the northern hemisphere will be significantly greater than the maximum amount of daylight of the city in the southern hemisphere
	4.  Which of the following is NOT true of your minimum value of your data?

A. It shows that winter is during June and July.

B. It will happen approximately 6 months from when the maximum value occurs.

C. It shows that the shortest amount of daylight during the year will be approximately 172 minutes

D. It will occur at approximately the same time of year each year.

	 
	

	5.  Peter gets paid $20 just for accepting a yard job.  He then earns $3 for every hour spent on gardening. Write a recursive rule that shows the amount of money he earns.
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	6.  A golf ball has a rebound percentage of 60%. If it is dropped from 30 feet, how high will it bounce on the 5th bounce?

A. 2.33 feet

B. 4.56 feet 

C. 4.66 feet

D. 8.6 feet



	7. Letter grades are assigned using the following scale:  0 through 69 is an F, 70 through 79 is a C, 80 through 89 is a B, and 90 through 100 is an A.  Which of the following types of functions best describes the graph of this grading scale?

a. Exponential function  b.  Logistic growth function   


c.  Step function 
  d.   Sinusoidal function
	8.  Which of the following would make similar graphs or tables?
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	9.  Which of the following is the correct closed form/function rule for   
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	10. Which of following is the correct recursive formula for this table? 
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	11.  Which of the following equation is used to find x.
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	Use the following scenario to answer questions 12-13.

Mrs. Flick wants to buy a new car, but she needs $3,500 for the down payment on the car. She initially invests $150, then adds $75 each month and gets a 20% interest rate per month on the total amount. 
	12.  Which is the correct recursive formula? 
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	13.  How much money would Flick have after 6 months? 

A. $232.20

B. $447.90

C. $720.00

D. $1341.59

	Use the following scenario to answer questions 14-15.

John, a graduating senior at Bowie High School, is opening a savings account and initially puts in the $1800 that he received in graduation money.  He never adds anymore of his own money, and the bank pays an interest of 15% per year.


	14.  Which of the following is the correct closed form/function rule for this scenario?
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	15.  How long will it be until John has at least $1,000,000 in his savings account?

A. 38 years

B. 46 years

C. 64 years

D. He will never reach that amount in his life

	16.  A linear model would be a great representation of John’s data.

A.  True

B.   False


	17.  Which of the following is the length of side x?

        

     6             x

                    12(        

   

A. 0.035

B. 1.247

C. 6.134

D. 28.858      

	18.  Below is a chart with the recorded heights for each bounce of a ball. What is the average rebound percentage for the ball if the original height is 65 in? 

Bounce # 

Height 

0 

        65 

1 

37.05 

2 

20.75 

3 

11.83 

4 

6.39 

5 

3.51 

A.  2.79%

B.  12.3%

C.  24.09%

D.  55.8%
	19.  Based on the graph of all the cities and their daylight in the Daylight Activity, what do the intersection points represent?

A. Winter Solstice

B.  Summer Solstice

C. Equinox 

D. Eclipse

	
	20.  Pizza Hut sells a large cheese pizza for $10 each and $.50 for each additional topping.  Which of the following is the correct function rule for this situation?
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AMDM Fifth Six Weeks Exam


Name_____________________________________

Choose the best answer for each question.

	Use the following chart to answer question numbers 1-4.  Make sure your calculator is in radian mode for these questions.

Length of Daylight for Sydney, Australia

Date

Day Number

Minutes of Daylight

Jan. 1

1

862

Feb. 1

32

824

March 1

60

764

April 1

91

703

May 1

121

644

June 1

152

602

July 1

182

595

Aug. 1

213

627

Sept. 1

244

683

Oct. 1

274

745

Nov. 1

305

808

Dec. 1

335

853



	1.  Which of the following is the correct equation for the length of daylight for Sydney? 

A. 
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	2.  What is the minimum value of the data?
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	3.  Which of the following is NOT true of two cities that are the same distance from the equator but on opposite sides?
A. The maximum amount of daylight of the city that is in the northern hemisphere will be significantly greater than the maximum amount of daylight of the city in the southern hemisphere.

B. The length of daylight for both cities will create a sinusoidal graph.

C. Twice during the year these two cities will have the same about of daylight.

D. The two cities will have opposite seasons.
	4.  Which of the following is NOT true of your minimum value of your data?

A. It will occur at approximately the same time of year each year.

B. It shows that winter is during June and July.

C. It will happen approximately 6 months from when the maximum value occurs.

D. It shows that the shortest amount of daylight during the year will be approximately 172 minutes.

	5.   If a Ferris wheel with a radius of 80 meters moves at a rate of 40 cm per sec, approximately how many minutes does it take to go all the way around?

A. 3 Min

B. 21 Min

C. 24 Min

D. 29 Min

 
	6.  A Ferris wheel, with a radius of 80 meters, sits on a platform of 20 meters.   You get on the Farris wheel, and after a few minutes you are at a height of 75 meters.  Which of the following is the correct angle of rotation that your Ferris wheel pod has rotated through?
[image: image57.wmf]
A. 3.58(
B. 18.21(
C. 71.79(
D. 86.42(

	7.  Peter gets paid $20 just for accepting a yard job.  He then earns $3 for every hour spent on gardening. Write a recursive rule that shows the amount of money he earns.
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	8.  A golf ball has a rebound percentage of 60%. If it is dropped from 30 feet, how high will it bounce on the 5th bounce?

A. 4.56 feet
B. 2.33 feet

C. 4.66 feet

D. 8.6 feet



	9.  Find the 19th term of the given sequence.
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 (Assume 3 is term number one).

A. 1,572,864

B. 393,216

C. 524,288

D. 786,432
	10.  Which of the following would make similar graphs or tables?

A. 
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	11.  48 cm/sec = ? m/min

A. 125

B. 80

C. 28.8

D. 1.08
	12.  Which of the following is the correct closed form/function rule for   
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	13.  Which of following is the correct recursive formula for this table? 
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	14.  Which of the following equation is used to find x.
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	Use the following scenario to answer questions 15-16.

Mrs. Flick wants to buy a new car, but she needs $3,500 for the down payment on the car. She initially invests $150, then adds $75 each month and gets a 20% interest rate per month on the total amount. 


	15.  Which is the correct recursive formula? 
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	16.  How much money would Flick have after 6 months? 

A. $1341.59

B. $232.20

C. $447.90

D. $720.00



	Use the following scenario to answer questions 17-19.

John, a graduating senior at Bowie High School, is opening a savings account and initially puts in the $1800 that he received in graduation money.  He never adds anymore of his own money, and the bank pays an interest of 15% per year.


	17.  Which of the following is the correct closed form/function rule for this scenario?
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	18.  How long will it be until John has at least $1,000,000 in his savings account?

A. He will never reach that amount in his lifetime

B. 38 years

C. 46 years

D. 64 years

	19.  A linear model would be a great representation of John’s data.

A. False

B. True


	20.  Which of the following is the length of side x?

        

     6             x

                    12(        

   

A. 0.035

B. 28.858      

C. 6.134

D. 1.247

	21.  Below is a chart with the recorded heights for each bounce of a ball. What is the average rebound percentage for the ball if the original height is 65 in? 

Bounce # 

Height 

0 

        65 

1 

37.05 

2 

20.75 

3 

11.83 

4 

6.39 

5 

3.51 

A.  55.8%

B.  12.3%

C.  24.09%

D.  2.79%
	22.  Based on the graph of all the cities and their daylight in the Daylight Activity, what do the intersection points represent?

A. Winter Solstice

B. Summer Solstice

C. Eclipse

D. Equinox

	23.  Which of the following in true of graphs of Daylight over a period of a year of Houston vs. Chicago?

A. On June 21st Chicago will have a longer day than Houston.

B. On June 21st Houston will have its shortest amount of daylight and Chicago will have its longest amount of daylight.

C. On December 21st, Chicago will have its shortest amount of daylight and Houston will have its longest amount of daylight.

D. On December 21st, Houston will have a shorter amount of daylight than Chicago.
	24.  Pizza Hut sells a large cheese pizza for $10 each and $.50 for each additional topping.  Which of the following is the correct function rule for this situation?
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	25.  A gift for you... Bubble E for this one!! (
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